
Color Height 

gray 165 cm

Pos. No. Description Measurement Quantity

Pos. 1 Bottom plate 27.50 × 0.75 × 19.50 in.  
(700 × 20 × 500 mm) 1

Pos. 2 Lying plate, small, oval 15.75 × 0.75 × 11.75 in. 
(400 × 20 × 300 mm) 1

Pos. 3 Lying plate, large, oval 17.50 × 0.75 × 13.75 in. 
(450 × 20 × 350 mm) 1

Pos. 4 Lying plate 27.50 × 0.75 × 19.50 in. 
(700 × 20 × 500 mm) 1

Pos. 5 Lying plate for bed ø 13.75 × 0.75 in. 
(ø 350 × 20 mm) 1

Pos. 6 Post ø 3.50 × 5.75 in. 
(ø 90 × 150 mm) 1

Pos. 7 Post with spacer bolt, plush ø 3.50 × 5.75 in. 
(ø 90 × 150 mm) 1

Pos. 8 Post with spacer bolt ø 3.50 × 7.75 in. 
(ø 90 × 200 mm) 1

Pos. 9 Post ø 3.50 × 11.25 in. 
(ø 90 × 290 mm) 1

Pos. 10 Post with spacer bolt ø 3.50 × 12.75 in. 
(ø 90 × 330 mm) 1

Pos. 11 Post, plush ø 3.50 × 12.75 in. 
(ø 90 × 330 mm) 1

Pos. 12 Post ø 3.50 × 21.50 in. 
(ø 90 × 550 mm) 2

Pos. 13 Post with spacer bolt ø 3.50 × 21.50 in. 
(ø 90 × 550 mm) 1

Pos. 14 Post, plush ø 3.50 × 21.50 in. 
(ø 90 × 550 mm) 3

Pos. 15 Hammock 27.50 × 0.75 × 19.50 in.  
(700 × 20 × 500 mm) 1

Pos. 16 Hammock ø 15.25 in. 
(ø 390 mm) 1

Pos. 17 Cave 13.75 × 11.75 in.  
(ø 350 × 300 mm) 1

Pos. 18 Bed ø 13.75 × 3.5 in. 
(ø 350 × 90 mm) 1

Pos. a Counter sunk screw M0.25 × 1.25 in.  
(M8 × 35 mm) 1

Pos. b Rounded head screw M0.25 × 1.75 in.  
(M8 × 50 mm) 4

Pos. c Threaded rod M0.25 × 3.00 in. 
(M8 × 80 mm) 8

Pos. d Washer M0.25 × 0.75 in. 
(M8 × 24 mm) 4

Pos. e Allen key 1

Assembling Instruction & Parts List 

G Advice
This product should be assembled by an adult. 
Please assemble the scratching tree top down! 
Please check the screws regularly and retighten them if necessary.Pos. b

Pos. a Pos. c

Pos. d

1

2

3

4

6

7

8

9

10
11

13

1414

14

15

16

17

18

1212

5

a

bbbb

c
c

c

c

cc

c

c

dddd




